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Q-1 Ch oose correct answe r [05] 

1. Th e reactance of capacitor 

(A) 1/2nFC 
is given by ___ _ 

(C) 2nF R 
(B) 2nFL (0) None of above 

2. Register are made of ___ _ 

(A) f lip fl op (C) capacitor 

(B) res isto r (0) None of above 

3. In V IF type A to 0 converter ____ is constant. 

(A) time (C) current 

(B) frequency (0) None of above 

4. In V/T type A to 0 converter is constant. 

(A) time (C) current 

(B) frequency (0) None of above 

5. The Schmitt trigger has UTP & ___ _ 
(A) LTP (C) no point 

(8) MTP (0) None of above 

Q-2 Give an account of whetstone bridge. 

OR 
Q-2 Give an account of Wein bridge. 

0-3 Give an account of Tri-state switch. 

OR 

0-3 Give an account of R-2R O/A converter. 

0-4 Give an account of V /F type A to 0 converter. 

OR 

Q-4 Give an account of parallel type A to 0 conve rter. 

Q-5 Give an accou nt of modem and interfaces. 

OR 
0-5 Give an account of Schmitt trigger as inte rface circuit . 
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